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Y The pace of child development

(1) is uniform, standard and is dlsorderly

(2) has individual variations and is disorderly.

(3) is uniform, standard and is somewhat sequential and orderly.

(4) has individual variations and is somewhat sequential and orderly.
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[Question ID = 1][Question Description = S5_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)

At which age are children’s activities primarily focussed on use of large muscles for gross motor
rather than fine motor movements ?

(1)
(2)
(3)
(4)

Infancy
Early childhood

Adolescence
Middle childhood
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[Question ID = 2][Question Description = S5_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)



The process of teaching young generation about social processes through everyday interactions is
called :

(1) Sociability

(2) Culturing
(3) Socialization
(4) Delayed imitation
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[Question ID = 3][Question Description = S5_CDP_Q003]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]
4)
According to Jean Piaget, the infant explores the world by coordinating sensory experiences with
physical actions in stage.
(1) Concrete operational stage
(2) Sensori motor stage
(3) Pre-operational stage
(4) Formal operational stage
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[Question ID = 4][Question Description = S5_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)



In Jean Piaget’s theory a child who percieves car to be alive because it moves, is demonstrating :

(1) animistic thinking
(2) centration
(3) irreversibility
(4) seriation
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1[Q1ut[e;ti9n |I|; =157}[Question Description = S5_CDP_Q005]

2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

According to Kohlberg the last stage ‘Morality of individual principles and conscience’ of moral
development is characterised by the individuals :

(1) Seeing rules as fixed and absolute

(2) Wanting to be respected by others
(3) Feeling that it is their duty to uphold laws and rules for their own sake
(4) Believing that individuals must test the social laws rather than follow them blindly
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1[Q;J¢[acs;[t)it?or:] |I|; =2(ﬂ [Question Description = S5_CDP_Q006]

2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



As per Lev Vygotsky, when a teacher adjusts the support offered to a child to help the child reach
her zone of proximal development she is using :

(1) Scaffolding
(2) Conditioning
(3) Imitation

(4) Adaptation
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[Question ID = 7][Question Description = S5_CDP_Q007]
1. 1 [Option ID = 25]

2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8  Lev Vygotsky proposed that development :

(1) is synonymous with learning.

(2) occurs independent of learning.

(3) is not impacted by cultural factors.

(4) cannot be separated from its social context.
el aricenl | wfqaied o fop fospra
(1) e & =g el

(2) HrEd | @Hd w9 H e
(3) U HiEHfdew HRH| F1 RIS I el gl |
(4) oBI HHISeR HEH H e e fohan S Hehl |

[Question ID = 8][Question Description = S5_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

%) Which of the following does not ensure child-centered teaching-learning ?
(1) Safe and secure child-friendly school environment

(2) Fear free environment where each child can express oneself freely
(3) Practise of positive discipline in the classroom
(4) Recognising students as passive recipients of knowledge.
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[Question ID = 9][Question Description = S5_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)  Individuals having high.......... are typically good at reading, writing and telling stories.
(1) Logico-mathematical intelligence

(2) Linguistic intelligence

(3) Interpersonal intelligence

(4)

=

Musical intelligence
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1[.Q;J¢[acs;[t)itci>or:] ||[D> =317 (])][Question Description = S5_CDP_Q010]
2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)
proposes that language has a significant impact on the cognitive development of children.

(1) Lev Vygotsky

(2) B.F. Skinner

(3) Howard Gardner

(4) Jean Piaget
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[Question ID = 11][Question Description = S5_CDP_Q011]



1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

Which of the following is an effective strategy to reduce gender bias in an elementary classroom ?

(1)

The teacher should ignore and dismiss gender related issues in the classroom.

The teacher should assign equal responsibilities to all children in various activities which
take place inside the classroom.

The teacher should give physical tasks such as arranging the desks to boys and soft tasks
such as decorating bulletin boards to girls only.

The teacher should not have much expectations from girls in science and mathematics.
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[Question ID = 12][Question Description = S5_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)

In a classroom with diverse learners the teachers should :
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Follow a curriculum in which they include the culture and language of children in the class
Promote stereotypes and biases

Create rigid structures for norm based testing of children

Make separate sections based on ability
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[Question ID = 13][Question Description = S5_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)



Conducting a group discussion, a teacher ask the children to discuss the impact of the corona
pandemic on children from various aspects. What type of thinking does the teacher aim to

promote ?

(1) Procedural learning
(2) Critical thinking

(3) Convergent thinking
(4) Rote memorization
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[Question ID = 14][Question Description = S5_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)

Which of the following modes of assessment would NOT be used in a socio-constructivist

classrooms ?
(1) Collaborative projects

(2) Standardised tests
(3) Peer assessment
(4) Classroom observations
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[Question ID = 15][Question Description = S5_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)



The philosophy of inclusive education :

(1) Promotes all practices of exclusion.

(2) Is based on the premise of having seggregated schools for learners based on their abilities.
(3) Is limited to including children who are visually challenged and hearing impaired.

(4) Challenges all exclusionary policies and practices.
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[Question ID = 16][Question Description = S5_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

7) Ina heterogeneous classroom which has students of mixed ability, the teacher should :

(1) Use the same teaching-learning method for all.
(2) Make use of diverse teaching-learning methods
(3) Use teacher-centered teaching

(4) Practice exam directed teaching
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[Question ID = 17][Question Description = S5_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



Which of the following are effective adaptations for students with “Attention Deficit Hyperactivity
disorder’ ?

(i) Allow students to stand while working

(ii) Break the task into small parts

(iii) Strictly enforce time limit to finish classwork
(iv) Give one task at a time

(1) (i), (i), (iv)

(2) (), (@), (i)

(3) (@), (i), (i)

(4) (1), (i), (i), (iv)
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[Question ID = 18][Question Description = S5_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4[Option ID = 72]
19)
Which of the following is a correctly matched pair of children and identifying characteristics ?
(1) Creative student - rigidity in approach to problem solving
Autism - repetative motor movements

(2)
(3) Students with learning disability - very poor memory
(4)

N

Students with visual impairment - hard of hearing.
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[Question ID = 19][Question Description = S5_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20) In which of the following ways can a teacher promote creativity in students ?
(i) By asking questions that are divergent in nature
(ii) By being sensitive and flexible to students’ unusual responses

(i) Encouraging single right answer
(iv) Providing rigid directions to follow
(1) (), (@)
(2) (i), (i)
(3) (i), (iv)
(4) (@) (iv)
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[Question ID = 20][Question Description = $5_CDP_Q020]

1. 1 [Option ID = 77]

2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) " For learning to be effective the content :
(1) Should be delivered via lecture method
(2) Should be connected to the real life experiences of the students.
(3) Should be presented in disconnected chunks.
(4) Should be very challenging and much above the learning level of students.
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[Question ID = 21][Question Description = S5_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]



22)

Assertion (A) : Teachers must enable children to find their voices and nurture their curiosity-to
do things, to ask questions and to pursue investigations.

Reason (R) : Learning is an act of meaning-making and not the ability to reproduce textual
knowledge.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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1[.Q1ljt[e;;it?or:] |I|[)> ==825]2][Question Description = S5_CDP_Q022]

2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) A constructive teacher :

(1) Gives both examples and non-examples in her classroom.

(2) Gives only examples in the classroom.

(3) Refers to only non-examples to strengthen concepts

(4) Should not give both examples and non-examples in the class.
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[Question ID = 23][Question Description = S5_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24)

—— e —

motivate the learners to believe in themselves and work harder.

1) Shame and hopelessness

2) Fear and anxiety

3) View of ability as fixed and incontrollable

4) View of ability as incremental and controllable
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[Question ID = 24][Question Description = S5_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

The teacher conducts some activities aiming to evoke previous knowledge of students at the starting
of teaching-learning process. Which of the following is NOT correct in the context of these

activities ?

(i)  They helps in building connections of knowledge.

(i) They are waste of time and resources.

(iti) They are not helpful in making the learning process effective.

(iv) They are positive and psychological initiative to prepare the students for learning.
(1) (@) (@)

(2) () (i)

(3) (i), (iv)

(4) (1), (i)
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[Question ID = 25][Question Description = S5_CDP_Q025]



1. 1 [Option ID = 97]
2. 2 [Option ID = 98]
3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) A teacher can help the students cope with anxiety :

(1) By giving them severe punishment

(2) By offering rewards

(3) By telling them to do repeated practice through recall
(4) By talking to them about their feelings and helping them
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[Question ID = 26][Question Description = S5_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) How can teachers encourage children to become intrinsically motivated learners ?

(1) By praising high achievers

(2) By punishing low achievers

(3) By promoting them to copy the teacher
(4)

N

By inculcating a sense of joy in learning
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[Question ID = 27][Question Description = S5_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)



When Zafar asks his middle school students - Today, what did you learn about how you learn ?
What process is he encouraging ?
(1) Conditioning

(2) Imitation
(3) Memorization and recall
(4) Metacognition
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[Question ID = 28][Question Description = S5_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
29)

Assertion (A) : A teacher shares with her students how to approach a problem by going through
all the steps of problem solving,.

Reason (R) : Think-aloud demonstration to students is an effective teaching strategy.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanations of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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1['Q:.|t[a;t)it?or:] |||; ==121'§]][Question Description = S5_CDP_Q029]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4[Option ID = 116]



300 Assertion (A) : A child’s emotional state effects her performance in school.
Reason (R) : Cognition and emotions are inter-related.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q1ljt[e;ti9n |I|; =13;(;]][Question Description = S5_CDP_Q030]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

1)

The word ‘Indus’ is called in Sanskrit.
(1) Hindos

(2) Indos

(3) Sindhu

(4) Bharata
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[Question ID = 91][Question Description = S5_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]

3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



" Which of the following is a Megalithic site ?

(1) Brahmagiri

(2) Daojali Hading
(3) Bhimbetka
(4)

4 Mehrgarh
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[Question ID = 92][Question Description = S5_Social Science_Q032]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]
3)
Which of the following statements are true about Minhaj - i - Siraj, a chronicler in the
court of Raziya Sultan ?
Statement (A) : He recognised that Raziya was more able and qualified than all her
brothers.
Statement (B) : He was not comfortable at having a queen as a ruler.
Choose the appropriate option.

(1) Only (A) is correct
y (

(2) B) is correct
(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

Freafafes weAl 8 @ 7 W FoA W gear % eeR | uF sfaedsr, fee-u-fous & dey
H 2?7

HYT (A) : 39 SR fman § o ofsen s wft el & sifere A i mem o |
YA (B) : 9% U T o UEH & ®Y F =101 781 € q1 @ A1

Hel famreg =)
(1) e (A) 98 &
(2 B) Tl &

)
(3) (A) 3 (B) g wE §
4)  (A) @iy (B) 2T HEl el &
[Question ID = 93][Question Description = S5_Social Science_Q033]

1. 1 [Option ID = 369]
2. 2 [Option ID = 370]



3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 3 X ; ; 4
) Ina history discussion on architecture of Delhi, a teacher needs to focus on :

(A) Imperial assertion and dominance.

(B) Stylistic superiority compared to earlier architecture.
Option :

(I) Only (A) is relevant

(2) Only (B) is relevant

(3) (A) and (B) are both relevant

(4) (A) and (B) are irrelevant

fewetl st argehen T sfaerm =i e H == % T fiess S S o =
(A) HEI g& 3R 9YE W

(B) U ashen & g § et S W |

faerea :

1)  Fae (A) T

) HEe (B) IHEiTE B

) (A) 31 (B) €I wrEfiT €1

) (A) T (B) STIRHTH T

[Question ID = 94][Question Description = S5_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

'%
(4

(
(2
( )
)

5)
Read statements (A) and (B) and choose the correct option :
Statement (A) : Brahmanas were not allowed to eat non-vegetarian food.

Statement (B) : The Brihaddharma Purana, a thirteenth-century Sanskrit text from
Bengal, permitted the local Brahmanas to eat certain varieties of fish.

Options :

(1)  (A)is true but (B) is false

(2) (B) is true but (A) is false
(3) Both (A) and (B) are false
(4) Both (A) and (B) are true



FHT (A) AT (B) I U 91 Gel fasrey T |
HYT (A) : STEI ] G Sie 0 1 ergafa A ot |
HIT (B) : JegyH qUU, S el H Wea owed] wdresl w1 G U9 8, J W gR 6 F5

A frei T TR ) s S d
Teaere
(1) (A) W&l & 9%g (B) Ted &
(2) (B) &l & W (A) TTEd &
(3)  (A) T (B) Sl T ¥
(4) (A) 791 (B) B Tl €
[Question ID = 95][Question Description = S5_Social Science_Q035]

1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)

After the revolt of 1857, British introduced the following changes to regain
control :

(A) Power was transferred from East India Company to the British crown.

(B) Proportion of Indian soldiers was increased to appease them,

(C) Policies were made to protect the tillers from landlords.

(D) British decided to respect customary religious and social practices of people in India.
Choose the correct option :

(1) (A), (B) and (C) are true

(2) (B), (C) and (D) are true

(3) (A) and (D) are true

(4) (A) and (B) are true

1857 o Tagie o 1% SISl < YRd W g4: e uH & fou it sageme feu

(A) g Sfem St & an iR fafew gy =1 exiafid fre )

(B) sy fauifeai =1 Hqee 3 & el 37k 14T <l =@ 41 |

(C) Bifaed #1 i | gefeam v % fo ffaai s 2

(D) s 3 s & @il & e i arfees Gfa-fersi & g @ & fo fwe
& fomred T |

(1) (A), (B) 3R(C) F&l &

(2) (B), (C) IR (D) W&l €
(3) (A) 3R (D) wEE
(4) (A)3R(B) T &

[Question ID = 96][Question Description = S5_Social Science_Q036]



1. 1 [Option ID = 381]

2. 2 [Option ID = 382]

3. 3 [Option ID = 383]

4. 4 [Option ID = 384]

7)
Which of the following legislation was enacted in 1720 by the British Government to ban
the use of printed cotton textile from India called Chintz in England ?
(1) The Cotton Act

(2) The Calico Act

(3) The Chintz Act

(4) The India Trade Act

1720 H fafee vaR A geie § 9YRd % DUSR Hdl shue-Sie-+ FHe I¢ el o & fou
Tr=fafed 5 9 E w1 %[ | fFw -

(1) &t sifufm

(2) Hfemn sfufm

(3) e Afuferm

(4) YRd =AM Ay
[Question ID = 97][Question Description = S$5_Social Science_Q037]
1. 1 [Option ID = 385]

2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)
Consider the following statements and choose the correct option :

Statement (A) : Birsa Munda co-operated with the British Government, Hindu landlords,
money lenders and missionaries.

Statement (B) : The land policy of the British Government was destroying the traditional
land system of the Mundas, Hindu landlords and money lenders were
taking over the land of the Mundas and missionaries were criticising the
traditional culture of the Mundas.

(1) Both (A) and (B) are true and (B) is the reason for (A)

(2) Both (A) and (B) are true and (B) is not the reason for (A)
(3)  (A) is true but (B) is false

(4) (B) is true but (A) is false



Frfafed wuai o2 fomm ¥ I w2l fasweq 1 =9 4 :

®UT (A) : form ger 7 siish wver, g ywafid, wersml oiv fasmfed 1 wedm fwa

HY (B) : S st yfafaar geel & wiwr gf saee w1 = w1 @ o, feg et ik
TRTSH S ST S0 o 1 9 2R faer S9eh W Wi it strerEan #3d 91

Teere

(1) (A) 1 (B) S HEl € 91 (A) =1 R (B) 21

(2)  (A) A1 (B) S WEl § 74T (A) 1 HIT (B) & & |

(3) (A)H& & o (B) e B

(4) (B) W&l & foh) (A) T B 1

[Question ID = 98][Question Description = S5_Social Science_Q038]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

9 The Aligarh movement was founded in the year :

(1) 1865
(2) 1875
(3) 1885
(4) 1895

TG AT o ALY i H g |
1865
1875
1885
1895

e

(1
(2
(3
(4

[Question ID = 99][Question Description = S5_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

" Who among the following founded the ‘Arya Samaj’ ?

(I) Raja Ram Mohan Roy

(2) Ishwarchand Vidyasagar
(3) Swami Vivekanand
(4) Swami Dayanand Saraswati



‘37 HHTS R T TR Rl 2

(1) i O |ig 14

(2) wvavEs fermmaER

(3) @t faamm=

(4) @ AR HwIEl
[Question ID = 100][Question Description = S5_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

" Match the following :

Column - I Column - I1
(a) Young Bengal Movement (i) Sayyid Ahmad Khan
(b) Ramkrishna Mission (i) Periyar
(c) Aligarh Movement (iti) Swami Vivekanand
(d) Self Respect Movement (iv) Henry Derozio
Choose the correct answer :
(1) @¢@). (b)-(i), (0)-(i), (d)-(v)
(2) (@), (b)-(), (0)-(iv), (d)-(iii)
(3)  (@)-(iid), (b)-(iv), ()-(ii), (d)-(1)
(4 (@)-(v) ( )-(iii), (€)-(1), (d)-(ii)
Frefarad =1 faer =1
e - I e - 11
(a) =T ST g () TR e @
(b) TEFO T (i) R
(c) oAENTE <A (iii) F@TH AR
(d) TEfmE e (iv) T S
W W ﬂ'FT :
(1) (a)-(0), (b)), (O)-Gi), (d)-(v)
(2 (a)-(i), (b)-(3), ()-(v), (d)-(iii)
(3  (a)-(), (b)-(v), (c)-(i1), (d)-(3)
(4 (a)-(iv), (b)-(id), (c)-(i), (d)-(ii)

[Question ID = 101][Question Description = S5_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)



Consider the following statements and choose the appropriate option.

Statement (A) : The Muslim League announced 16 August 1946 as 'Direct Action Day’
for winning the demand for Pakistan.

Statement (B) : The Cabinet Mission succeded in providing a suitable political framework
for free India that was acceptable for both the Congress and the Muslim
League.

Options :

(1) Both (A) and (B) are true but (B) is not the correct explanation of (A).
(2) Both (A) and (B) are true and (B) is the correct explanation of (A).

(3) (A)is true but (B) is false.

(4) (B) is true but (A) is false.

fefefas e T fomm =Y qen suge faeeq <4 |

HUT (A) : TR 3T HiJ H7EH & A g & A 16 3715 1946 &1 T8 FHEm
feas’ 5 =1 g fohan

&Y (B) : Koz e e Wi % fae ww sugs UsHIfas Qe & J S w3l
it o7 S ol TR 81 e | 9hd @

farenea

(1) (A) 3 (B) i @&l § g (A) 1 9@l =ame (B) &l €1

(2) (A) &I (B) ST W&l € 91 (A) 1 Hel =R (B) B

(3) (A) W& & foreg (B) Mo 2

(4) (B) W&l © fohq (A) TTeid & |
1[Q:1¢[a;;it?or:] ||[D> =410 (;]2][Question Description = S5_Social Science_Q042]
2. 2 [Option ID = 406]

3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

13)

Consider the statements (A) and (B) on women'’s participation in the freedom movement
of India.

Statement (A) : A large number of women participated in the Civil Disobedience
Movement led by Mahatma Gandhi.

Statement (B) : Both British officials and Indian nationalists felt that women's
participation gave the National struggle an immense force.,

Choose the correct answer :
(1) (A) is true, (B) is false
(2) (A)is false, (B) is true
(3) Both (A) and (B) are true
(4) Both (A) and (B) are false



YR Tl §ar H Afgensi o Te9id & GeH § $99 (A) T8 F2H (B) 7 =R ifau
HYA (A) : gl Hem o wfgensdi 7 ware M g g T wfeTa e sker § fewmn forn
HYT (B) : o, TS stfuemifEl qen gt yrfaEt 3 78 vegy fon fa e § afeaned i
RIS < 2T SFRIe i 9gd aiehd a1 © |
(1) (A) W & (B) Tor &1
(2) (A)TE €, (B) HEl B
(3) =l (A) Ud (B) Hel &
(4) =l (A) TS (B) e B
1[Q1u?;titgn |||; =410 2]3][Question Description = S5_Social Science_Q043]
2. 2 [Option ID = 410]

3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

14)

The meetings of the Constituents Assembly were held in which of the following place/
places ?

(i)  New Delhi

(1) Calcutta

(iii) Bombay

(iv) Madras

Choose the correct answer from the following :

(1 Oﬂl}f ()

(2)  Only (i) and (i)

(3) OfﬂY(l)()ﬂnd( 1)
(4)  Only (i), (i) and (iv)

Hfaem 9o &t e fra/fea e W g ot ?

(i) 8 feeedt

(i) el

(iif) @i

(iv) HIH

feu e famredl § 9§ @t 3 I ¢
(1) = Q)

(2) e (i) T (ii)

(3) eI (i), (i) T (i)

(4) o (i), (i) T (iv)

[Question ID = 104][Question Description = S5_Social Science_Q044]



1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

15)

(1) Outer planets are made up of rocks.

(2) Outer planets are small planets.

(3) Inner planets are far from the sun.

(4) Inner planets are made up of rocks.
71 H | i e e 22

(1) <RI78<gH aa98!

(2) wRITE SR H B TR R

(3) Al U 9H | 9gd W E|

(4) sriafiE 9 =g 9 8 §)
[Question ID = 105][Question Description = S5_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]

3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

'®) Match the following columns.
Column - A
(a) Research station in Antarctica (i)
(b)  The longest river of world (i1)
(c) The largest river of world (1)
(d) Strip of land between North and (iv)

South America
Choose the correct option :

(D) (@), (b)-(iii), ()-(1), (d)-Gv)
(2)  (a)-(i), (b)-(i), (c)-(iid), (d)-(iv)
(3)  (a)-(iv), (b 1i), (¢)~(1), (d)-(ii)

(4)  (@)-(@v), (b)-(1), (0)-(iii), (d)-(ii)

Which among the following is a true statement ?

Column - B

Nile

Isthmus of Panama
Amazon

Dakshin Gangotri



HIH-A HicTH-B

(a) Sierhfes § 9y &< @) e

(b) Tova =t gag awel a1 (i) T TETEy
(c) fova =t gag ot 7 (iii) STHSHA

(d) S a sl smfem & ot @l 9 (iv) SR s
wel fasheg oA

(1) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

(2)  (@)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(3)  (a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)

(4) (@), (b)-(i), (c)-(iii), (d)-(ii)

[Question ID = 106][Question Description = S5_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17)
Consider the following statements about Equator and choose the correct option :

(A) The equator is a real line running on the globe, which divides it into two equal
parts.

(B) The equator is the longest latitude.
(C) The equator represents the 180° latitude.

Torse 39 o IR | feu 7 1 el o fen a1 wEl fashed =1 A sifad
(A) TomEd g9 U At W@ B S T & S R H aied © |

(B) Torad 9 wad e 2y ¥

(C) Tomed g9 180 1&7i9T =T T &1

faerea :

(1) Fae (A) T& 1

(2) *ae (B) el B

(3) T (C) TE 7

(4) e (B) 991 (C) Tl T

[Question ID = 107][Question Description = S5_Social Science_Q047]
1. 1 [Option ID = 425]



2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

18)
Consider the following statements about Meridians.
The Meridians :
(A) are lines of longitude
(B) are parallel lines to equator

(C) are semicircles and the distance between them decreases steadily towards pole until
it becomes zero at the poles

Choose the correct answer :
(1)  (A) and (B) are correct
2

(
(3
(

) (B) and (C) are correct
) (A) and (C) are correct
)

4 A), (B) and (C) are all correct

Il W e H T el W feEm i

AT |

(A) i T ¥

(B) Tored 99 % wwiw @ §

(C) % a7efge § aen 3 = Y g yai H T Hdl Sl § U e WY g 9w 7
W& TaheT & =3 it :

(1) (A) 7= (B) WEl T

(2) (B) @M (C) TE £

(3) (A) T (C) TEr F

(4)  (A), (B) T (C) Telt wet &

[Question ID = 108][Question Description = S5_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

19)



Consider the following statements about coral reefs and choose the correct option :
(A) Corals are skeletons of large marine animals.
(B) Coral reefs play an important role in protecting the coastline from erosion.

(C) When the living polyps die, their skeletons are left and collection of these skeletons
form coral island.

Options :

(1) (A) and (B) are true

(2) (B) and (C) are true

(3) (A) and (C) are true

(4) All (A), (B) and (C) are true

yare fufadi & 9 | Fi= fou e sy w fa=m wifan o ot fawey &1 534 wifv .

(A) HaTel g YL Siie o shele ¢ |

(B) ware fufal Tz a2 #1 Ferm § Tk H Hewyul i e §)

(C) v Siifad Yifery Wd & 99 37 Fehie 99 9 €1 39 Sl & e eF | WA g 5
2l

ferenea ¢

(1) (A) 3Tt (B) W&l T
(2) (B) &R (C) T&l ¥
(3) (A) 3R (C) T €1

(4) (A), (B) 3R (C) Tt =&t ¥

[Question ID = 109][Question Description = S5_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]
20)
An elementary teacher wants to introduce the theme “Life in the Deserts” to her class.
Which of the following characteristic has to be part of the class discussion ?
(A) Extreme temperature
(B) Low rainfall
(C) Scanty vegetable
(D) Arid region
Choose the appropriate option :

(1) (A), (B) and (C)
(2) (B), (O) and (D)
(3) (A), (C) and (D)
(4) Al (A), (B), (C) and (D)



e YR T ) fferen eroet wen § Y § Sea’ ) ot vern =ed 81 e A g e
Tergreranati &t wen =t ==l § T e =ney ?
(A) THfEER q9EH
(B) T =i
(C) =gd H aTFafd
(D) % W
39 Tashed o1 =3 HIfaT -
(1) (A), (B) 3R (C)
(2 (B) () ¥R (D)
(3) (A) (© #R (D)
(4)  (A), (B), (C) 3R (D) =it
1[.Q;J([a;'t)itci>or:] ||[D> =413 17 ;)][Question Description = S5_Social Science_Q050]
2. 2 [Option ID = 438]

3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

21)

A geography teacher in elementary school wants to discuss about monuments built with
metamorphic rocks. Which of the following example could she use ?

(A) The Taj Mahal

(B) The Red Fort

Choose the appropriate option :
(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)

(4)  Neither (A) nor (B)

Tt st Wek Tarfernt a1aet fies T o e H st el @ 59 TR % 9N H w6 e
=redl ¢ | 9 1§ TR 3emevll &) 39 wEr H e =iy ?

(A) TS HES

(B) et ferem

el fashey =1 g Hifs -
(1) e (A)

(2) 94 (B)

(3)  (A) T (B) S
(4) A (A) RF X (B)

[Question ID = 111][Question Description = S5_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]



3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)

Match the weather instruments given in column I with weather phenomena given in
column IT and choose the appropriate option :

Column - 1 Column - 11
(a) Thermometer (i)  Direction of the wind
(b) Barometer (ii) Amount of rainfall
(c) Wind Vane (iii) Air temperature
(d) Rain Gauge (iv) Air pressure
Options :
(1) (@), B)-G), (©-Gv), (d)-(iid)
@) (@), (b)-(id), (©)-(), (d)-Gv)
@) (@)-(iid), (B)-(iv), (O)-(i), (d)-(iD)
(4) ()G, (b)), (O-Gi), (d)-Gv)

Wi - 1 H U Tu Hem wr9ehi o1 e - 11 H & 7 Jradt gem 9 e S qen 393
faarey &1 994 Hife ;

i - 1 hieTd-11

(a) =M (i) = el e
(b)  EFREEH (i) S I HE
(c) ar-ferge (iii) ATIEE

(d) =t A (iv) SrEEE
faeea

(1) (a)-(i), (b)-(i), (c)-(iv), (d)-(iii)

(2)  (@)-(i), (b)-(iii), ()-(1), (d)-(iv)

(3)  (a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)

(4)  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

[Question ID = 112][Question Description = S5_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



) Which among the following statement(s) about Stratosphere is/are correct ?

(a) This layer is almost free from clouds and associated weather phenomenon.
(b) It contains a layer of ozone.

(c) Meteorites burn up in this layer.
Choose the appropriate option :

(1) (a) and (b)
2) (a) and (c)

(2)

(3) (b)and (c)
(4) Only (a)

graH e % AN § e 8 9 A qud ser gd ¥ 2

(a) o8 WA ecl ud arEg Heitl Teredi | e g9 gl ® |
(b) 9 TSI FI T Sl 7 |

(c) Ioohl e 30 Wa H Sl S & |

UG fased T |
(1) (a) F(b)
(2) (@) 3R (o)
(3) (b) 3(c)
(4) 9 (a)

[Question ID = 113][Question Description = S5_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

24)
Which of the following is/are example(s) of the assertion that cultural differences existing
in the world is the outcome of human interaction with the environment ?
(A) People of Amazon basin live in houses with a steeply slanting roof.
(B) People of Amazon practice ‘slash and burn agriculture’.
(€) People in Bihar and Assam make handicrafts from silk.

Options :

(1) Only (A) and (B)
(2) Only (B) and (C)
(3) Only (A) and (C)
(4) Al (A), (B) and (C)



Frefafag 5 9 & 98 39 o9 & 3SR ¥ T fava o ue s 9 gienfds ofa aFda & a9
TAET o Q1Y i 715 ST=ATe61 1 &l qiomd ¢ |

(A) oTHsH afe d wi i gar arel Sl & qEE § w®d §
(B) STSM afEA H @[ '#dd 3§ S84 i Ygid’ 1 THN A 7 |
(C) ToRr aen e78m = & faes 9 gwafied 94 & |

faeT ;

(1) e (A) 2R (B)
(2) e (B) 3 (C)
(3) e (A) &R (C)

(4) W (A), (B) &R (C)
[Question ID = 114][Question Description = S5_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]

3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

25 : .
) Consider the following statements.

Statement (A) : A pleasant beautiful landscape is not a resource.
Statement (R) : A resource must always have an economic value.

Choose the correct option :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

Frefafed s 92 faam 1)

W (A) : T GUE TARH Y59 Tk HHIEA e €1

HUT (R) : Teh HEEA 61 gHR0 (e ge g fard 7
Fﬁ'\‘fﬂﬂﬁqﬂﬁ

(1) (A) 3 (R) SHT T&l € ofw (R) T =amen &3 § (A)
(2) (A) 3 (R) < Tt € Sifa (R) et =amen = & (A) 1
(3) (A) &l & &feh (R) e B

(4) (A) &t (R) ST TTerd B

[Question ID = 115][Question Description = S5_Social Science_Q055]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

26)



Read the following statements about sustainable development.

Statement (A) : Sustainable development is a process of maximum exploitation of
resources.

Statement (B) : In absence of sustainable development non-renewable resources can
definitely get exhausted.

Choose the correct option.

(1) Both (A) and (B) are true, and (B) is the correct explanation of (A)

(2) Both (A) and (B) are true, but (B) is not the correct explanation of (A)
(3) (A)is true, but (B) is false

(4)  (A) is false, but (B) is true

[Aduei ferehme & si¢ H e 7wl 9T fq=m it |

(A) HaaauiE faem @ el GurEEl w1 siferhad S wE €

(B) Haaumviy fasmg % s o sty gamH fAivea w9 9 st ure & 9% )
el fasey o1 =2 Fifa

(1) < (A) @@ (B) T8 € 31 (B) Tt =ame a1 € (A) Fi |

(2) <M (A) 9 (B) TE € o (B) WET =@ el X (A)

(3) (A) Weél ¥, o= (B) TTed 2

(4) (A) e €, foeg (B) W& B

[Question ID = 116][Question Description = S5_Social Science_Q056]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]
27)
Consider the following statements :

Statement (A) : In mixed farming the land is used for growing food and fodder crops
and rearing livestock.

Statement (B) : Shifting cultivation is practised in the semi-arid and arid regions.
Choose the correct option :

(1) Only (A)is true

(2) Only (B) is true

(3) Both (A) and (B) are true
(4)

4)  Neither (A) nor (B) is true



(A) Tafga Sfa 8 ufy =1 ST oieF d 9R & W 3T iR gy &g e o 2
(B) TMIGH! &Y YEmd: 1y 9 Y o9 § yeferd 2

W&l Tasrey =1 =7 =it

(1) =T (A) T8I B

(2) e (B) e 7
(3) THI (A) @ (B) WA E I
(4) T (A) TE T ARAE (B) T E

[Question ID = 117][Question Description = S5_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
28)
In Ladakh, local versions of the Tibetan National epic ‘kesar saga’ is/are sung and
performed by which of the following religion/s ?
(1) Only Buddhists
(2) Muslims and Buddhists
(3) Hindus and Buddhists
(4)

4 Only Hindus

wger@ 1 fomg end % o, fersa o1 i Gue oo Se grm’ =1 7 € 31 39 W e S € 2

(1) Fad 95
(2) A 3R S
(3) fegemarg
(4) e feg

[Question ID = 118][Question Description = S5_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

29 : g s ; -
" Which among the following is not representative of diversity ?

(1) Multilingual Society
@)
(3) Religion pluralism
(4) Mult culturalism

Caste System



Trefafaa 5 | = fafaua 1 v sereo =& 9 =1 961 ?

(1) =B g9=
(2) i e
(3) wifie =gerang

(4) € HEHfTER

[Question ID = 119][Question Description = S5_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30)

When were the Electronic Voting Machines (EVM) used in general elections in India for
the first time ?

(1) 2004
(2) 2014
(3) 2009
(4) 1999

R H 218 FATEl H sorrie difen Jeie (3. . TH) @ WEr qaued s gen ?

(1) 2004
(2) 2014
(3) 2009
(4) 1999

[Question ID = 120][Question Description = S5_Social Science_Q060]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

31)
In different talukas of various districts, land disputes are largely taken care of by the

1)  District Collector
2) Tehsildar

3) Patwari
4)

Gram Panchayat

=% TSt & fafv= aregent §, g % Ame @1 foem B T =1 €
Toren stfermd



[Question ID = 121][Question Description = S5_Social Science_Q061]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

32)

Which of the following is relevant for a cooperative ?

(A) Brings higher income and reduces dependence on merchants
(B) Supports large companies

(C) Increases capabilities of members

Choose the appropriate option :

(1) (A), (B) and (C)

(2) (A) and (B) only

(3) (A)and (C) only

(4) (B) and (C) only

frafafad § § 9 o g geen & g9ed § grfies 82

(A) SEaT 2T SUETe A & IR et o fef wd €
(B) el il hl Teml R &

(C) HEE %l &l Fewl B

STgH fashed g |

(1) (A), (B) 3 (C)

(2) e (A) R (B)

(3) FEA (A) R (C)

(4) Faa (B) 3T (Q)

[Question ID = 122][Question Description = S5_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33)

Which of the following statement is true about weekly markets ?

(1)
(2)
(3)
(4)

Weekly markets have permanent shops which open on a specific day of the week.
Traders at weekly market have to pay rent, electricity bill and wages to workers.
Most of the things people need are available at one place in weekly markets.

Most of the things available in the weekly market are relatively higher priced.



grefess aeiR o 9N H e H § i o1 e wdt €2

(1) e ST § geh! ghF ardl ¢ o gware § foredt fodm feq w0 & gad 2

(2) e SR § STl b o, fasrer w1 fae oin sl # e o Ted §)
(3) WrIfes IeR H SHL & 9t 9 U & 5 R e s )

(4) wrafes =R H fiyer Al sfusa 9y b #iva o foerd €1

[Question ID = 123][Question Description = S5_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

* Which movement demanded equal rights for African American people in USA ?

(1) Abolition Movement

(2) Civil Rights Movement
(3) Labour Movement
(4)

4 Women’s Rights Movement

S G eTidie HgF T ofen § srRien-emifteT nll F fore gum sl St 9 R @
o1 7
(1) S ST
(2) R SR siger
(3) HIGY A
(4) S AR st
[Question ID = 124][Question Description = S5_Social Science_Q064]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

35 ) o . ;
) Which of the following statement is correct about advertisements ?

(A) Ensures consumers take critically informed decisions to buy products.
(B) Appeals to personal emotions to make purchases.

(C) Make consumers believe brands are better than those that are not.
(D) Showcasing advertisements in electronic media is very expensive.
Choose the appropriate option : |

(1) Only (A), (B) and (C)

(2) Only (B), (C) and (D)

(3) Only (A), (C) and (D)

(4)  (A), (D) and (B)



ferest 3 weol 7 freifafed o & s & o g2 §2
(A) gffead s € fr sueier 30 s & & fog @ifdher e ik gfea fofa of |
(B) e & fou fasit wemsil «it gohrar §1

(C) Susirern =i favary feama € fr aie 3wm B

(D) oot =0 sevaeifes wreal § foamn aga wém 21
39 foehed g |

(1) et (A), (B) 3R (C)

(2) e (B), (C) ¥R (D)

(3) Fad (A), (O) 4R (D)

(4) (A), (D) ¥R (B)

1['Q:J?cs)'t)itci)or:] |||; =419 315][Question Description = S5_Social Science_Q065]

2. 2 [Option ID - 493]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

36)

What is the relationship between State and Religion according to the Indian
Constitution ?

(1) They are strictly separate from each other

(2) They follow principled distance from each other

(3) They are not separated from each other

(4) They are arbitrarily separated from each other

IR HiGeM % 38R 59 3 ud & &g o deay §2
(1) 3 U% gE Y gofe: 7o &

(2) IR o9 U Sgifoen HEEn ©

(3) Rl o o= g BIEen T8 o

(4) ST =" eTdifhe HrEe §

[Question ID = 126][Question Description = S5_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)



If A is elected as the President of India, which of the following decision can A take by
herself ?

(1) Can select a person of her choice to be the Prime Minister.

(2) Nominate the leader of her choice to the Council of Minister.
(3) Ask for reconsideration of a bill passed by both the houses.
(

4) Dismiss a Prime minister despite the person having a full majority in the lower
house.

3T A 9IRd o Tegafd o ®9 | A St &, @1 Frefafad 8§ 9 oF W Ao 58 $799 2119 o Hendl

(1) wEE-H3 98 % fou oo wEe % =i w99 5t ¢

(2) i 4R o AU SToT wEE % AT =l i S Hehdl 8 |

(3) = el @ wia fadees w gHfaeR w9 % fou e e 8

(4) Tr=et 98 9§ Ui agad BF 3 915 o WHFHST Il UG L TRl |

[Question ID = 127][Question Description = S5_Social Science_Q067]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

38)
With regard to First Information Report, consider the following statements and choose
the correct option.

(I)  The complainant does not have the legal right to get a copy of the FIR that she/he
has lodged for a cognizable offence.

(II)  The information for FIR can be given by the complainant to the police only in writing
and not through verbal communication.

Options :

(1)  Only (I) is correct

(2) Only (II) is correct

(3) Both (I) and (II) are correct
(4) (

4) Both (I) and (II) are incorrect



gy =1 fdre o ded ) frfafea sea w faar Fifen it w& faswey gfu .

() TomRTaa 37 dTet sl U, 378, 3R 1 Tl YT e ol it afesr =8 & gt 399
T WA ST I U, A, I, T FE T

(1) TorerTee & aTel U, oTE. AR, %1 ga tfes w9 § 72 o~ Fae fafas w1 § gfam =

T TR ¢
faaney :
(1) Fad (1) & g1
(2) oae (I) WET )
(3) (1) SR (1) S ¥

(4) (1) A1) T T E

[Question ID = 128][Question Description = S5_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

39)

Niyamgiri hill located in the Kalahandi district of Odisha, is home to which of the following
tribes ?

(1) Bhils

(2) Santals

(3) Gonds

(4) Dongaria Konds

I8 F Fremre foaa § feg =mim v fFefafed § 4 @5 9 senfa &1 g &2

(1) &

(2) Hard

(3) e

(4) S =i

[Question ID = 129][Question Description = S5_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4[Option ID = 516]

40)



Read the following (A) and (B) in the context of laws, and identify which law protects
the interests of the marginalised ?

(A) Law specifying that adequate safety measures be ensured in the work place.

(B) Law requiring that the quality of goods meet certain prescribed standards.
Choose the correct option :

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

FF o ded § Frerfafaa (A) o (B) o ufgw aon e=t i = o eifvrra @i & Ra H 82
(A) HEIIE T T YA SEE i e A &l we |
(B) ISt 1 YU 9l & ST Y MHid e arel HA |

Hﬁﬁwmgﬂﬁﬁfm
(1) e (A)
(2) Fad (B)

)
(3) T (A) @0 (B)
(4) AW (A) FRAD(B)
[Question ID = 130][Question Description = S5_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

*" The National Curriculum Framework, (2005) suggests :

(a) Inclusion of local examples in the curriculum of history

(b)  Social Science curriculum as utilitarian in nature.

(c) Increasing curiosity in learners within the scope of the textbooks.
(d) Perpetuating the status quo in society.

Choose the appropriate option :

(1) y (a) and (b)

(2) y (b), (c) and (d)
3) (c) and (d)
(4) Olﬂy (a), (b) and (c)



T Ea=d S9N (2005) AT & -

(a) e & IRy § T 3SR k1 gHE |

(b) TS fagm &1 Temrd ware o SnaeiieE € |

(c) TUEATETR % SRR H AAferTaeRdiet H Scgehal I aeEl |
(d) GEE | 2 Tfq = @

Iy fomred g4 )|

(1) Fae (a) TR (b)
(2) e (b), () W (d)
(3) A () 3R (d)
(4) e (a), (b) 2R (o)

[Question ID = 131][Question Description = S5_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

*» Which of the following is true about Social Science ? Choose the appropriate option.

(a) Facts are sacrosanct and not to be questioned.

(b)  Teaching of controversial issues should be avoided in upper primary classes.
Options :

(1) (a) is correct

(2) (b)is correct

(3) Both (a) and (b) are correct

(4) Both (a) and (b) are incorrect

Frefafed 9 9 @ a1 gmfes fogm & e 3 W&t 82 3uged fasmed 34
(a) T2 GIHYEA § a1 39 9L U9A el oY Hehdl |

(b) o= WiafHe Haneti H foererag qadi « foeo 8 a=m =ife |
faeren -

(1) (a) T2 21

(2) (b) WL

(3)  (a) TR (b) < T €1
(4) (a) 3R (b) 3 Terd T

[Question ID = 132][Question Description = S5_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)



Following statements are related to concept mapping. Choose the correct option.

Statement (A) : Concept map are represented in hierarchical fashion with most inclusive
concept at the top.

Statement (B) : Concept map is grounded in theory of assimilation.
Options :

(1) Only statement (A) is true

(2) (A) and (B) both statements are true

(3) Only statement (B) is true

(4) Statement (A) is true but (B) is wrong

freforag e Frae B sEuRn AEtEE SEied € 98 fHeed & =99 e
WA (A) : SFHRN AT TeTHT § saafted Saarona s THT syawen § fud ge g

HFLRT e T T Bt 7
HF (B) : YR OHfEE faem’ & fagia w enaifa €
IEETZ
(1) et w94 (A) 98 ¥
(2) YA (A) 3R (B) T T B
(3) Had FYA (B) TEl T
(4) A (A) T & Sk FUA (B) o189 B |

[Question ID = 133][Question Description = S5_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44)

In a geography class on renewable energy, the objective of an activity based on the concept
of “Solar Cooker” would be to demonstrate :

(1
(

)
)

(3) how solar energy is usually wasted.
)

(

how cooking can be fun.

2

how solar energy can be trapped and utilized.

e

how slow cooking is better than junk food.

TATRTT FSll U Wk Il el H, ‘Hie Fehd sl Hehoudl W eneifid afafafy o1 e

=l yehia % % e

(1) Y AISH I HARST &1 Hohdl 7|

(2) FH R S R U SYART A1 S w2 |

(3) FH GRS WR: Syufene died ¥

(4) Y i TR G A S HE i gad H ST B

[Question ID = 134][Question Description = S5_Social Science_Q074]



1 [Option ID = 533]
2 [Option ID = 534]
3 [Option ID = 535]
4 [Option ID = 536]

45)

Who can be a part of team teaching ?
(1) A teacher from another subject but from the same institution.
2

(2) A teacher of same subject from another institution.
(3) A teacher appointed specifically for the purpose.
(4)

4 Any teacher, from any discipline having expertise related to the theme being taught.

T AT UL T ST & Hohell & ?

(1) TF & T 1 I 37 v a1 forera

(2) U = HEIH W gHE fav o e |

(3) faftre 32va = fou frgem ws foerr |

(4) e off ok, forelt oft fom & B 919 ueE 919 areft ot T Here aifde 2

[Question ID = 135][Question Description = S5_Social Science_Q075]

1.
2.
3.
4.

1 [Option ID = 537]
2 [Option ID = 538]
3 [Option ID = 539]
4 [Option ID = 540]

46)

What would be the most appropriate reason for an activity involving students in energy
audit of their school ?

(1) To know the types of appliances used in school.
2

(2) To know the functioning of different appliances.
(3) To know how much energy can be saved by simple changes in habits.
(4)

4 To know how much energy is consumed by the school.

ferenfofdi o1 37k farere™ = S goden (iifee) #1 uw Tfafafy § urierd & fee afq sog
ST T 1T 7

(1) Toemem d 9@ 2 A SUsT % YRl Sl SHA & fe |

(2) Tafa=1 I & Wepril =l S & fag |

(3)  ewmedi H Tuwor el g1 fHae S 1 9= 1 S Yl € T S 6 A

(4) Torner gr1 foraet S o1 3usE fovan 7/ @8 SIAA o o)

[Question ID = 136][Question Description = S5_Social Science_Q076]

1.
2.
3.
4.

1 [Option ID = 541]
2 [Option ID = 542]
3 [Option ID = 543]
4 [Option ID = 544]

47)



A teacher selects a few students from a class for a demonstration of the solar system.
Each of the selected is given a placard, with name of a planet of the Solar System. Students
are asked to hold the placards and take their places with the sun in the cenfre to create a
model of solar system. What would be an appropriate criterion to select students for the
given roles of the planets ?

(1) Colour of skin

(2) Height
(3) Marks obtained in the last examination
(4) Communication skill

UR-Tvge % YeviH % foru sreares o faenfef=i w1 < &t €1 g ¢ weish faenef =i w@i
9 arel vg few e fanfefE w6 ug om % fa e T oi SR S T U8 d gU Ui
HUsd &1 Ufawy s & fau &g w1 ger w18 yfheed % fore faenfeE % g i sifa-
U FHIE A B ?
(1) ===
(2 R
(3) T wlE H 9 {h
(4) HUYY H HIETA

1[Q:.u[e;ti:n III[)) =514§]7][Question Description = S5_Social Science_Q077]

2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

* Which of the following could be the most effective and interesting teaching strategy to

introduce history to class 6 students ?
(1) Show an Oscar awarded movie followed by a lecture without break.

(2) Play a “treasure-hunt’ game to make learners understand that historical
constructions are made through piecing together of sources.

(3) Giving a project on the conservation and protection of monuments.
(4) Engaging with a work sheet on the content of the syllabus of class 6.

Frerfofed § § oo s & faentet #1 sfiem 4 ufitfed =07 % fon sifauyraemet wd sfEe
SATYT 1 I S O Bl Hehol B2

(1) =A%=pt T Thed o g & arg famn el saemma & =amer |

(2) sferReRalsl i Te WA o oy fa e AT Sid 1 Sied % Jread § S g,
"ESHI-EISH | e e |

(3) THNEHI < EEI UH G W U YRS <A |

(4) el FH & TSTFRH o U T TF FHRTER H HE HEH |

[Question ID = 138][Question Description = S5_Social Science_Q078]
1. 1 [Option ID = 549]



2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]
49)

Consider the following statements (A) and (B) on how Social and Political life books
differ from the earlier “Civics” books at middle school level.

Statement (A) : ‘Civics’ books lacked concrete examples to highlight the functioning of
democracy in people’s life in India.

Statement (B) : ‘Social and Political Life” books include content grounded in the life of
students.

Choose the correct option :

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct

(4) Neither (A) nor (B) is correct

Tfed wra W 9 F9 ‘gifsieh ud sHifae siiad’ sl gEde GO AR W’ i gl 9
=1 €, % 9 # fou u fefafad w21 (A) 991 (B) &1 98 |
FHIT (A) : AR W A GEHI H UH 319 SRl i Al ot fe S @il o Sited J

A bl Ffd =l ISR foman < deh |

AT (B) : AR TF AT Sia | P H UEt foee awg wnfae s wE & S faenfe %
St ¥ et €

WE farheq &1 =5 e

(1) ad (A) &t ¥

(2) HEd (B) HWET ®

(3) =M (A) 1 (B) W E |

(4) T dT(A) 3R T € (B) T E

1[Q:.1¢[e;tit9n |||; =515 Z;?][Question Description = S5_Social Science_Q079]

2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)



Read the following statements about objectives of teaching social - political realities in
classroom.

(A) To develop both critical and constructive approach to social realities.
(B) To make students cynical about stark realities of social and political life in India.

(C) To discuss Indian democracy, its everyday manifestations in the form of justice and
struggle.

Choose the correct option :

(1) Only (A) and (B) are correct
(2) Only (B) and (C) are correct
(3) Only (A) and (C) are correct
(4) All (A), (B) and (C) are correct

hefl § | g Tsrideh arsdiashaisd ol Yelt S+ o 3899l & 9 § fu 7u wemi & ufeu

(A) sk drfser aferreanel = gfd faenel st & s ol @y fomfad i

(B) difer st fernedt v & wrmfaes & yeifas @ garef | faw &)

(C) e foenell e Sierda & o | &, Sk Siter § 3851 @%Y & =09 9 {99 o &9 4§
S Y |

IUgEd fashed 1 999 i

(1) e (A) 991 (B) T& 2 |

(2) FEE (B) 71 (C) el

(3) ke (A) T (C) Wl €1

(4) = (A), (B) T (C) T&l £

1[Q1L1¢[e;titgn |||; =515 A;;)][Question Description = S5_Social Science_Q080]

2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

51)

A teacher provides newspaper articles to students on themes dealt within the Social Science
class. She asks them to link issues raised in the article with concepts dealt in the class.
Thiswill.. .

(A) develop oral skills of presentation

(B) show newspapers articles are more relevant than textbooks

(C) encourage evidence based learning

(D) develop analysing skills

Choose the appropriate option :

(1) ( ) and (B)
(2) y (€) and (D)
(3) (A (B) and (C)
(4)  Only (B), (©) and (D)



e forferem eroet wmfsier fom o e | ugR TE e oty 9 Hefyd sTEer & o e
forenfeldi 1 St @ | 9 3% @ | 3o U HE % Wy el § e U Gy % WY sie F wadl
g1z

(A) W= % Hifges S o foeh g

(B) Wl orirT for srEarl & o Uiyl 9 #Ifue gt ¥

(C) g smenfRa eafermd = Wiesmes 2 |

(D) fowervomes Fiee &1 fasmg grm|

I9geH fahed a1 g FHIfST

(1) =& (A) 91 (B)

(2) e (C) a1 (D)
(3) Fad (A), (B) 79 (C)
(4) 9 (B), (C) 7 (D)

[Question ID = 141][Question Description = S5_Social Science_Q081]
1. 1 [Option ID = 561]

2. 2 [Option ID = 562]

3. 3 [Option ID = 563]

4. 4 [Option ID = 564]

52)

In order to make students understand that modern historical documents are to be read
while being sensitive to contexts in which information about the past was produced a
teacher could :

(A) discuss how subject knowledge may change over time
(B) discuss how language changes over time

(C) discuss how meaning of terms may change over time
Choose the appropriate option :

(1) (A), (B) and (C)

(2)  (A)and (B)

(3)  (B) and (C)
(4)  (A)and (C)



ferenfefdi =t 71 e % fore for enyfer Wi <wares 1 T8 gel o wft gaesier @ gu
v =fen ford sfmm % an § g Sues wAE TE ¥ U e

(A) 3H R == R G & o F T % wy fawg @ e uRefdd @ @%@ 2

(B) TH W I X UHAI ¢ foF FE WA % W w1 ufEfdd gl 2 |

(C) =8 W == X Hha € o F9 vk % o1 wom & Ty ufafda 3 v 2

wg‘efaﬁamﬂfh
(1) (A), (B) #r ()
(2) (A) R (B)
(3) (B) ¥R (C)

(4 (A)#R(©Q)
[Question ID = 142][Question Description = S5_Social Science_Q082]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]
53)
Consider the following statement and choose the correct option :

Statement (I) In order to make the learning of Social Science more enjoyable
and effective, there is a need for innovation in teaching methods.

Statement (II) : The teaching of Social Science needs to involve as many games as
possible so that students enjoy the subject.

Options :

(1) Both (I) and (II) are true

(2)  Only (I) is false but (II) is true
(3) Both (I) and (II) are false

(4)  Only (I) is true but (II) is false

Frafafas oAl W fo=m 1 I8 get faseq =1 =99 1

FwA () :  wEiles fagm & aferm 1 aAfes sHeeEs wd gyeRTel 9 % fag,
e gsfa # eifime ufteda =t eeaegesa 1

®YA (1) : Wil fodm o ey ¥ g1 d9a freisn o1 wimtaq s =ifee aifs
famnedl foog =1 31g 391 9

ey :

(1) (1) SR (10) S T8 2

(2) FEd (1) T § U (I0) T R

(3) (1) 3R (1) S T

(4) oRare (1) W& @ 9% (I1) TTerd

[Question ID = 143][Question Description = S5_Social Science_Q083]
1. 1 [Option ID = 569]



2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54)

Why are photographs of famine in Bengal during the British period usually considered as

primary source ?

(1) They were clicked by real and reliable people.

(2) They illustrate past events as what really happened and people as they were at that
time.

(3) They are old and considered as a heritage resource by the Archaeological Survey of
India.

(4) Photographs cannot change with the passage of time.

fofe =t o S ser § s1ehte o ol ol 71 U U WA ©d & ©9 H HE S o1 ?
(1) & arfas g favarEt @ g/ @i= T 4 |

(2) & 7l ST S S St ared H 9 Tl v S 39 9§ @ 9 39 'Y H guid §
(3) T € oK 3% A g geleon fasm g elet o w9 H 5 o €

(4) TEF S & W fost wea 6 e |

[Question ID = 144][Question Description = S5_Social Science_Q084]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

> Arrange the order (beginning to end) the steps of applied form of problem solving :

(A) Developing a hypothesis

(B) Modifying the hypothesis in some cases
(C) Defining the problem

(D) Testing hypothesis

Choose the correct option.

(1) (C), (A), (B) and (D)

(20 (©), (A), (D) and (B)
(3)  (A), (D), (B) and (C)
(4) (D), (B), (C) and (A)



TSN G & ST9IF ©Y o 9000 @l (SRY-F 3fd 96) %9 ° & .
(A) YfEReg =1 fasiad &

(B) %@ Al H UfeheyAl i ®UARE sl
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(1) (O, (A), (B) 3R (D)

(2 (©), (&), (D) R (B)

(3) (A), (D), (B) #R(C)

(4) (D), (B), (O) ¥R (A)

1['Q:1?cs);it?or:] |||; =517 ‘;]F)][Questlon Description = S5_Social Science_Q085]

2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)

A classroom quiz on India’s lesser known freedom fighters as part of history class is an
example of (Choose the appropriate option)

(A) Formative Assessment

(B) Summative Assessment
(C) Diagnostic Assessment
(D) Assessment of learning

Options :

(1) (A) and (B)

(2) (A) and (C)

(3) (B) and (C)

(4) (A) and (D)

sferd i e § YRd & w9 e s SAHsl 9 g See @ |
IR fashed 1 997 HifSIT
(A) TIARH® Ak

(B) ANTICHE 3Ticher

(C) “eifte sfieer

(D) eAfEATH T 3iher

(1) (A) 3T (B)

(2) (A) 3R (©Q)

(3) (B)3iR(C)

(4) (A) 3R (D)



[Question ID = 146][Question Description = S5_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
57)
Which of the following questions promote critical thinking skills ?
(A) Do you think dams across rivers affect the delta soils ? How ?
(B) Construction of large dams affect marginalized communities. Do you agree with
this view ? Justify.
(C) Why it is not possible to construct a large dam in Medak district in Telangana ?
(D) Why west flowing rivers do not form delta ?
Choose the correct option.

(1) (A) and (B)

(2) (B) and (C)
(3) (A)and ()
(4) (A) and (D)

Frefafas § § 91 9 7 ST fEaT ive &l sger od @ 2

(A) =1 A Hred ¢ T afeei o, S g 6 gafad s €2 F9 2

(B) Toomer <l =1 Fwfor ifirarepa el i gufad e &1 58 39 59 o0 @ Hewd €7
(C) =i detT § Hees et | faune sty 1 Frmio Huwg 78 82

(D) = ufvam feen =t 3R F& aweh et Ser T8 aw § 2

wel famea |
(1) (A) 3 (B)
(2) (B) & (Q)
(3) (4) ¥R (Q
(4) (A) ¥R (D)

[Question ID = 147][Question Description = S5_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

58)



Consider the following statements about ‘rubrics” and choose the correct option :
(A) ‘Rubrics’ can help teachers to clearly convey their expectations to the students.

(B) With the help of rubric students can understand what level of work is considered
good.

(C) Application of rubrics in classroom help teachers to improve their tests, but not
students performance.

Options :

(1) (A) and (B) are correct

(2) (B) and (C) are correct

(3) (A) and (C) are correct

(4) Al (A), (B) and (C) are correct

‘s’ & 9 H FAl W faEr we o) wE faseq 1 ghE i
(A) “wfsrerg” arfermesranedi g erdenell it w2 w9 9 ygEn o e #) e X g £
(B) ‘wforr’ it Tieg ¥ famndf o2 ot U € o o= el for = & 6 o A S @ R

(C) ‘wfsram’ o1 e § waAw e & adieruii =l Sga JAH | Hes i g, foheg sifermenaei 6
YRYH #h Tel |

A) Te (C) Hét €1
(4) = (A), (B) T (C) T&l £

[Question ID = 148][Question Description = S5_Social Science_Q088]

1. 1 [Option ID = 589]

2. 2 [Option ID = 590]

3. 3 [Option ID = 591]

4. 4 [Option ID = 592]

59)
Which of the following question would help to build the critical thinking skills of
students ?
(1) What benefits does Sudha, a Government employee get along with her salary ?
(2) What is the role of Gram Panchayat ?

(3)  Why do you think small workshops and factories employ casual workers ? How
does it affects casual workers life ?

(4) What are the differences between those who sell on the street and those in the
market ?



= 4 F i 9 9eF 361§ A HaT o fae e § geraes 2 ?

(1)
(2)
(3)

(4)
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[Question ID = 149][Question Description = S5_Social Science_Q089]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)
Which of the following Social Science questions promote acquisition of metacognitive
knowledge ?
(1) Why symbols are required to prepare a map ?
(2) Find out the distance from your Mandal headquarters to District headquarters with
the use of a map.
(3)  Why is the actual distance on the ground reduced on the map ?

(4)

List important features of a map.

frefated § 9 &F 91 g fa9m &1 99 W-HaHes J9 & e S see o 2

(1)
(2)
(3)
(4)
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[Question ID = 150][Question Description = S5_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q91-99_L1_P2_CTET

1)



Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

Which of the following statements is NOT TRUE ?
(1) Amy belonged to a poor family.

(2) She was a farm worker.
(3) She showed a slight lack of confidence.
4)

(

[Question ID = 151][Question Description = S5_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

She was a beautiful young woman.

2)



Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

Mrs. Smith made Amy to put on a black dress every afternoon :
(1) as it suited her personality.

(2) so that she should look beautiful.

(3) so that she should not look likeable.

4)

(

[Question ID = 152][Question Description = S5_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

as it was the only dress available.

3)



Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

Mrs. Smith was not right when she realised that Amy :
(1) was quite stupid.

(2) lacked charms.

(3) was very humane.

(4)

[Question ID = 153][Question Description = S5_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

had no imagination.

4)



Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

Study the following statements :
A) Mrs. Smith was quite a smart wife.

(

(B) Amy spoke very fluently.

(1) (A) is right and (B) is wrong.
(2) (B) is right and (A) is wrong.
(3) Both (A) and (B) are right.
(4) Both (A) and (B) are wrong.

[Question ID = 154][Question Description = S5_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]
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Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

Study the following statements :
A) Whatever be the situation, Amy never lost her cool.
B) She was particularly attracted towards the grey parrot.

(

(

(C) It is ironic when lack of charms becomes a recommendation.
(1)  (A) is right while (B) and (C) are wrong.

(2) (B) is right while (A) and (C) are wrong,

(3) (A)is wfong while (B) and (C) are right.

(4) (B) is wrong while (A) and (C) are right.

[Question ID = 155][Question Description = S5_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4[Option ID = 620]
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Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

I don’t know what induced me to notice her .

The underlined clause is a/an :
(1) Principal clause

(2)

(3) Adjective clause
(4)

[Question ID = 156][Question Description = S5_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4[Option ID = 624]

Noun clause

Adverb clause

7)



Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

‘.... a slight hesitation in her speaking ” ..

The underlined word is a/an :

(1) Noun

(2) Verb

(3) Adverb
(4) Adjective

[Question ID = 157][Question Description = S5_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]
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Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

The word ‘ perceived’ means the same as :

(1) liked

(2) disliked
(3) ignored
(4) noticed

[Question ID = 158][Question Description = S5_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]
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Read the passage given below and answer the question/ complete the statement that
follow by choosing the correct option out of the given one.

Amy was the eldest child of a large family. At the age of fifteen they put her out to
work at Greenland Farm. I attended Mrs. Smith, the landlord’s wife, and saw that girl
there for the first time. Mrs. Smith, a gentle person with a sharp nose, made her put on a
black dress every afternoon. I don’t know what induced me to notice her at all. There are
faces that call for attention by a curious lack of something particular in their appearance.

The only peculiarity I perceived in her was a slight hesitation in her speaking, a sort
of preliminary stammer which passes away with the first word. When sharply spoken to,
she was apt to lose her head at once; but her heart was the kindest’. She had never been
heard to express a dislike fora single human being, and was tender to every living creature.
She was devoted to Mrs. Smith, to Mr. Smith, to their dogs, cats; and as to Mrs. Smith’s
grey parrot, its peculiarities exercised upon her a positive fascination. Nevertheless, when
that outlandish bird, attacked by the cat, shrieked for help in human accents, she ran out
into the yard, stopping her ears, and did not prevent the crime.

For Mrs. Smith this was another evidence of her stupidity; on the other hand her
lack of charm, in view of Mr. Smith’s well-known, unbecoming vulgar nature, was a
great recommendation. Her short-sighted eyes would swim with pity for a poor mouse in
a trap. It is very true that there is no kindness of heart without a certain amount of
imagination. She had some. She had even more than necessary to be moved by pity.

The word opposite in meaning to the word “tender” as used in the passage is :

(1) soft

(2) difficult
(3) hard
(4) old

[Question ID = 159][Question Description = S5_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Topic:- ENG_Q100-105_L1_P2_CTET

1)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

Who is the speaker in these lines ?
(1) aschool going child

(2)

(3) a fruit gatherer
(4)

[Question ID = 160][Question Description = S5_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4[Option ID = 640]

a bored school teacher

the parent of a school going child

2)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

The extract is full of :
(1) anxiety

(2) dreariness

(3) pathos

(4) joy

[Question ID = 161][Question Description = S5_English Content/Pedagogy_Q101]
. 1 [Option ID = 641]

. 2 [Option ID = 642]

1
2

3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

3)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

Study the following statements :
(A) The speaker is feeling sad.
(B) The parents should look after tender plants in the garden.
(€) The school has been called a cage.
(1) (A) and (B) are correct but (C) is wrong.
(2) (B) and (C) are correct but (A) is wrong.
(3) (A) and (C) are correct but (B) is wrong.
(4) (A) and (B) are wrong but (C) is correct.
[Question ID = 162][Question Description = S5_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]

3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

4)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

Study the following sentences :
(A) A small child should have freedom to play and enjoy himself.
(B) Children are compared to buds and blossoms.

(1) (A) is right and (B) is wrong,

(
(

[E2)

3) Both (A) and (B) are right.
(4) Both (A) and (B) are wrong.

)
) (B) is right and (A) is wrong.
)

[Question ID = 163][Question Description = S5_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

5)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

‘Nor sit in learning's bower

The underlined phrase is a/an :

(1) Simile

(2) Metaphor

(3) Personification

(4) Alliteration
[Question ID = 164][Question Description = S5_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]

3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

6)



Read the extract given below and answer the question/ complete the statement that
follow by choosing the most appropriate option out of the given one.

Ah! then at times I drooping sit,
And spend many an anxious hour;
Nor in my book can I take delight,
Nor sit in learning’s bower,

Worn thro” with the dreary shower.

How can the bird that is born for joy
Sit in a cage and sing ?

How can a child when fears annoy,
But droop his tender wing,

And forget his youthful spring ?

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy
Or bless the mellowing year,

When the blasts of winter appear ?

‘veee.. When fears annoy’,

The underlined word does not mean the same as :

(1) bother
(2) irritate
(3) infuriate
(4) delight

[Question ID = 165][Question Description = S5_English Content/Pedagogy_Q105]

1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3.

4. 4 [Option ID = 660]

3 [Option ID = 659]

Topic:- ENG_Q106-120_L1_P2_CTET

1)

Which one of the following is NOT correct about teaching grammar effectively ?
(1) Present the form in genuine communication

(2)

(3) Provide the form in practice in real life-like communication
(4)

Elicit relevant rules of grammar in contexts

Learn grammar by memorising its rule and through drills

[Question ID = 166][Question Description = S5_English Content/Pedagogy_Q106]

1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3.

4. 4 [Option ID = 664]

3 [Option ID = 663]



2 a2 ; s
) When we read a text for specific information, this is called ?

(1) Skimming
(2)
(3) Extrapolation
(4)

[Question ID = 167][Question Description = S5_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

Scanning

Almlysis

P We acquire mother tongue basically :

(1) in a formal learning situation
(2) by speaking it

(3) by listening to it

(4)

[Question ID = 168][Question Description = S5_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

by writing

4)
Which approach to grammar encourages the belief that learning a language is a matter of
learning rules ?
(1) Deductive
(2) Inductive
(3) Communicative

(4) Grammar translation

[Question ID = 169][Question Description = S5_English Content/Pedagogy_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4[Option ID = 676]

5)
A teacher designs a test to find out the cause of the poor grades of his learners through
a/an :
(1) diagnostic test
(2) proficiency test

(3)
)

3 achievement test
(4

aptitude test

[Question ID = 170][Question Description = S5_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)



A teacher uses a report from a newspaper to teach writing. Such a material used for
teaching is referred to as

(1) scholastic material
(2) natural material
(3) authentic material
(4) external material

[Question ID = 171][Question Description = S5_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

7). Intonation is variation in ;
(1) sound
(2)
(3) organ
(4) ai

[Question ID = 172][Question Description = S5_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

pitch

air

8)
Banishing mother tongue in the classroom is the characteristic feature of
method.
(1) Direct
(2) Bi-lingual
(3) Grammar translation

(4) Art Integrated Learning

[Question ID = 173][Question Description = S5_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

? Diagnostic tests are administered to :

(1)  find out deficiencies of the students with a view to plan remedy.
(2) asses the suitability of a candidate for specific programme.

(3) test the proficiency for providing job.

(4) judge the students’ capabilities.

[Question ID = 174][Question Description = S5_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

10)



Which one of the following is NOT a correct statement with regard to ‘Evaluation’ ?

(1) Evaluation is a more comprehensive process of measurement.

(2) Evaluation is both quantitative and qualitative.
(3) Evaluation is concerned with the measurement of total teaching learning process.
(4) Evaluation is done to give feedback to the learner about the strength and weakness.

[Question ID = 175][Question Description = S5_English Content/Pedagogy_Q115]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

11 o g
) Constructivist approach to language teaching expects the teacher to :

(1) give pre constructed knowledge to learner

(2) construct his own curriculum

(3) make learners prepare their own text book

(4) help the learners construct knowledge using their experience

[Question ID = 176][Question Description = S5_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

12 3
) Pre-reading tasks are meant for :

(1) Evaluating the reading skill of the learners

(2) Giving the meaning of difficult words and phrases
(3) Introducing the main idea and motivating the learners
(4) Explaining the grammatical items used in the reading text

[Question ID = 177][Question Description = S5_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

) Which one of the following makes the communication a cyclic process ?
(1) Sender
(2) Receiver
(3) Feedback
(4) Message

[Question ID = 178][Question Description = S5_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

14)



A teacher explains noun by giving examples first and then gives its definition. This method
is

(1) Inductive method

(2) Deductive method

(3) Both inductive and deductive method
(4) Direct method

[Question ID = 179][Question Description = S5_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

15)

When a teacher uses lessons in science and social science to teach language, such an
approach can be termed as ?
(1) Objective language teaching
(2) Pluralistic language teaching
(3) Discipline-wise language teaching
(4) Language across curriculum
[Question ID = 180][Question Description = S5_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]

3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

1)

faw wu eIy W sAYde ufeu dem g T UvH & fow wew Suged faseq @ wed
THITT |

WTOT 1 WaTE WEaaT el o SiE § | 39 Ja78 T TH 319 STE 16 Tehd &, T el i haa
e A A1 Fehd | TR 7] 1 TS A & g 9T sl gfie § 20 391 & =g &1 a1 =Fifeu |
39 Zfde™ 1 IS FTRR T8l HL Fehdl | 9d, Aiesd, SAHME ol 1 ST T o Sl e
TG €, & B 2 e & fof ofR i o= w@ 1 war 2w o yra-ur # fae- e siferat
ST ST =erd! 21 € | 9R ¥ H Uk & 9191 0 o, TH Ted 29N 9 78 | 39 99 Wi
TaEAT = el wfEes’ A9 WiEhd | wed 9 | 39 Wik el & S el wes 4 39 e
TR Y@ H - S

" T SR YETE WU el & o9l € | 98 ST 9T i foey fagradr 1 37 ek hdr € 2

(1)  sTuferdTeiterd
(2) uREdASTer
(3) TER-TER

(4) TAaw

[Question ID = 481][Question Description = S5_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]



3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]

2)

faw wu wertyT Wt sAUde ufeuw qem g T uye & fow wed Suged fasew & wed
THITT |

T 31 HaTe YAl 76l & Sl ¥ | 36 YaT8 T 80 9 ST 16 9ahd §, efehd A8t #i had
oL T o1 Fehd | TS 9T K] HS i & U8l 9O ki gite 9§ 30 <91 & e/ =i sE =F1feu |
39 SfA8TE Wi IS STRR Tel L Wehdl | 4, WG, TO9M dH ] @A L At SIS
TSI B, & € e e o froly o fmior s w1 g 2w H yr-ur § fae- fue siferat
STETTT-STe =erd! 27 € | 9) ¥ | Uk & 9191 F+l off, S Ted 29N 91 78 | 9 99 9=iid
ararei = e, wfees’ 19 WiEhd | ed 9 | 39 Wi el & S el wres 4 39 fer
FHR @ Ha - S

‘e s fan ol w0 ot gEr TR S e
(1) FrererEr

(2) TreRTer=dt

CEREEIS

(4) eyl

[Question ID = 482][Question Description = S5_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4. 4 [Option ID = 1928]

3)

faw wu wertyr St saude ufew qem U T uye & fo wew sugen faswen @ e
HiTeTg |

VT %1 HaTe WMl 76l & Sl & | 36 YaT8 T 81 T8 576 16 Tahd 8, fehd Al &I had
&L RIS Hehdl | TS TH 21 A i 6 U8cd W1 i g 9§ 39 291 o Sfier i @ Ffet|
39 SfA8TH I IS STRR Tol FL Tehdl | d, WG, TG dH ] @A L Al S e
THTSRITE B, 3 & W2 o1 o o7 ofr fmfor sh wehin | g <9 B yra-ura B fae- e siferst
STETT- 37T Setdl 3T § | N G¥ H Ueh & 91 el off, S Hald 391 99 78 | 39 ¥ Ui
TS| bl ‘Saddl, w79 Wiehd | Sed 9 | 39 Wishd Wmied| & Sl Sl wes 9 3 o
TR YL@l i da -5’ |

(1) EvEg

(2) FHIE T

(3) w@ifEE
(4) il 8

[Question ID = 483][Question Description = S5_Hindi Content/Pedagogy_Q123]



1. 1 [Option ID = 1929]
2. 2 [Option ID = 1930]
3. 3 [Option ID = 1931]
4. 4 [Option ID = 1932]

4)

few wTu eIty Wt sATYde® ufeuw qem U T uyH & fo wew Sugea fawen @ wen
ity |

1O &1 Yol YT 81 o S & | 39 JaTe W 8 3T 56 ST6] 9 8, ¢ifehs 51 1 had
HET LI ST Hehd | TS UTH 1 FISA A & T 9T &1 g | 30 29 o sfaem &1 <a Ffen |
39 3[A8TE &I IS STHR Tel HL Hehdl | d, W=, TAHH oH B @A H A S AR
THTSRIE B, 9 & W2 9T o o7 ofR fmior s wehin | gui <9 B yra-ure B fa=- e shiferst
STETT-STFT Feid] 3TE © | 91 oW H Ueh & 97 ST off, SHeh Hed 39N 99 6 | 39 59 9w
TS| ohl ‘Saddt |, wnfees’ ST9 Wiehd | ed 9 | 3 Wisha Wmied] & S it wres 9 3 fog
BHR Y@l i H - g

‘g1’ =1 A fE wmet & fore fEm g 2

(1) A

(2) widE

(3) faeed

(4) T

[Question ID = 484][Question Description = S5_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 1933]

2. 2 [Option ID = 1934]

3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]

5)

few wTu eIty Wt sAYde ufew qem U T uve & fon wew Sugea faswen @ weA
hiteTa |

WS 1 JaTE YT el & ST ¥ | 39 JaT8 T eH T8 SR S16 9hd §, e 78t F Hhad
X el A1 Fehd | TS T o1 HISH A & gl o1 i gfte § 50 <91 & g™ &l a1 Fifeu |
39 3fETE 1 HIE STEN TR L Tkl | 3d, 9, IaaE d 1 ©Ie T A Sl e
TETSITE B, F B s o ol oTR o s weh T euR < H yra-ura B - o sifer
S-S FeAd! S & | | G¥ H Uk & 91 il off, SH1 Heald S9N UTH 78 | 39 §e Uil
TSAT ol ‘Fatdt |, w79 Wiehd | wed 9 | 3 Wisha Wmie] & Sl it wres 9 3k T
THR Y@ i Ha - g

‘T’ vreg o wAW foREes ferg fopan smar o 2

1) Wiehd 9TE & I Y= o fore

) e el & i wesl & fag

3) f&&r wmeli & w=ei & feorw

4y siferi % sE vl e

2

(
(
(
(



[Question ID = 485][Question Description = S5_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]

6)

faw wu eIty Wt saUde ufeuw qem g U uye & fon wew Suged faswew @ wed
THITTT |

VT %1 HaTe YT 76l & Sl § | 36 YaT8 T 81 T8 ST S16 9ahd §, fhd A8t & Hhad
oL T o1 Fehd | TS 9T K] HS i & U8l 9O ki gite 9§ 30 <91 & e/ =i sE =F1feu |
39 A8 Wi IS STRR Tel L Hehdl | 4, WG, TOHM oH ] @A e arel SIS
TS g, & € e e o ol ofR i s w1 g 2w H yra-ur § fae- e siferat
ST AT =erdl 2118 € | R ¥ | Uk & 9191 FH off, S Hed 29N 9 T8 | 89 99 9=l
ararei = e, | wfees’ 19 WTEhd | wed 9 | 39 Wi el F S el wes 4 39 fe
FHR @ Ha - g

“Taerers’ 9 ared ©
(1) i el ot = S aren
(2) ot fore s
(3) 1 Tl I S S

(4) o 9= S el

[Question ID = 486][Question Description = S5_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 1941]
2. 2 [Option ID = 1942]
3. 3 [Option ID = 1943]
4. 4 [Option ID = 1944]

7)



faw wu wertyT Wt sAUde ufeuw qem g T uye & fow wed Suged fasew & wed
THITT |

T 31 HaTe YAl 76l & Sl ¥ | 36 YaT8 T 80 9 ST 16 9ahd §, efehd A8t #i had
oL T o1 Fehd | TS 9T K] HS i & U8l 9O ki gite 9§ 30 <91 & e/ =i sE =F1feu |
39 SfA8TE Wi IS STRR Tel L Wehdl | 4, WG, TO9M dH ] @A L At SIS
TSI B, & € e e o froly o fmior s w1 g 2w H yr-ur § fae- fue siferat
STETTT-STe =erd! 27 € | 9) ¥ | Uk & 9191 F+l off, S Ted 29N 91 78 | 9 99 9=iid
ararei = e, wfees’ 19 WiEhd | ed 9 | 39 Wi el & S el wres 4 39 fer
FHR @ Ha - S

‘TR geEl ki g oft’ s ifend wes o e B

(1) HE9=s
(2) forrl o
(3) ™

(4) *H

[Question ID = 487][Question Description = S5_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]
3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]

8)

faw wu wertyr St saude ufew qem U T uye & fo wew sugen faswen @ e
HiTeTg |

VT %1 HaTe WMl 76l & Sl & | 36 YaT8 T 81 T8 576 16 Tahd 8, fehd Al &I had
&L RIS Hehdl | TS TH 21 A i 6 U8cd W1 i g 9§ 39 291 o Sfier i @ Ffet|
39 SfA8TH I IS STRR Tol FL Tehdl | d, WG, TG dH ] @A L Al S e
THTSRITE B, 3 & W2 o1 o o7 ofr fmfor sh wehin | g <9 B yra-ura B fae- e siferst
STETT- 37T Setdl 3T § | N G¥ H Ueh & 91 el off, S Hald 391 99 78 | 39 ¥ Ui
TS| bl ‘Saddl, w79 Wiehd | Sed 9 | 39 Wishd Wmied| & Sl Sl wes 9 3 o
TR YL@l i da -5’ |

Frefafiaa & | wE-41 g=e fagmo =2 2

(1) =i
(2) frsit
(3) e
(4) SifeEr

[Question ID = 488][Question Description = S5_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]



Topic:- HIN_Q129-135_L2_P2_CTET
1)

faw wu eIy St sAYde ufeuw dem g T UvH & fow wew suged fasweq & wed
THITT |

$UF o W H ST aTel gal w1 @ o 9ga S | | $F Y S % 0T E fREe e agge
T TRTSRT ST T 3Tt SR STl STerd ¢ | 3fe 399 & o vt g&1 o few sind <t 9y e
WG % HH AT | & T, T &1 i 1 arg &K e & A" | 2 arel wed 9§ ot s | 1
=i vrHaTe §fH, S agE =R % A wReTe w9 H e H @ S ¥, g8 @ % fag wes
el ¥ | gt aeet gfin F oft, S St 3w § e A S, 9% @ S HeRd € |

e % 3UE SR STell o1 H 1 TREE Bl § 2
(1) T Fguo el S §

(2) e T HH B S R

(3) g % fo iR 7 faerm

(4) 39 TE B ST ©

[Question ID = 489][Question Description = S5_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 1953]
2. 2 [Option ID = 1954]
3. 3 [Option ID = 1955]
4. 4 [Option ID = 1956]

2)

fau T Ny wt eargdw ufer wur 9B U we & fow wed sugea fawen @ e
SHIfoTT |

o9 % HM H A arel gail 1 o ot S SEd € 1 SHA 1 % R & fREE et e
1 ST STTE] TeR 396 TR STell SToTd © | AfG 359 & fau gt a1 @ few i at 9r w1
WIS & Y ST | =8 721, 3 98 iy 1 9y oik 5ie1 & e & 2 91! shed | oft = | e
i wIrHaTa yfH, S oyt & =RE % f SweTe o w9 § # H R S S, 98 @ o fog ged
3=t & | g vt g H of, St S F w F 72 o Sl gar e o gehd ¥ |

& ORI &6 T AT E ?

(1) el & =0 F 5e e @
(2) SR Yff IYSS 99 S ©
(3) el Y =WE §F St §

(4) 9 = FeA Y FE

[Question ID = 490][Question Description = S5_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 1957]
2. 2 [Option ID = 1958]
3. 3 [Option ID = 1959]
4. 4 [Option ID = 1960]

3)



faw wu wertyT Wt sAUde ufeuw qem g T uye & fow wed Suged fasew & wed
THITT |

$UF % W H 2T aTel gall w1 @A o Sga S § | $HF S S o HIR0T § fREe eren aggs
T TRISAT ST e 3Tt SR STl STerd ¢ | 3fe 399 % o v ge1 o fou sind <t 9wy iR
TG % M ST | 78 71, T 9&1 4f 1 9rg &R et & e | 2 et wed 9 ot s | e
=i vTHaTe A, S TYE =R % A SReTe 6 w9 H s H @R S §, g8 @ % fog ges
st ¥\ O T o R, S S e e e e, ga e s w E

TR | b g&ii 1 @ o AE R T ?

(1) el el & arel

(2) T¥ % HM FH g

(3) TSl ®l AW A qA

(4) SR YfH I ITS(S GH o
[Question ID = 491][Question Description = S5_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 1961]
2. 2 [Option ID = 1962]

3. 3 [Option ID = 1963]
4. 4 [Option ID = 1964]

4)

fau T eIy W eAYd® ufeu qUT U MU wyA & fow wed suged faeeeq it wmw
SHIfTT |

T4 o ™ H A arel gadl 1 o ot S SEd § | $UF w1 6 R & fREE s el
1 TN SATHN TER 3¢ TR STell STerd € | AfG 369 % fore gared g1 @ fu < &t 9Ry e
@I & 1M W | 78 781, ¥ g1 yfF &1 9 AR 5 o A6 | 2 9l wed | ot s=mi | e
i SIHETe Yfe, S a ® =R & o Swee % w9 | e o 9 S €, g @ % fo el
st & 1 g o g H off, St % i § 7 o S, 98 o S gehd 2 |

T gy Tt % w9 F 6 et ?

(1) 7w gE
(2) g T g
(3) % U yfE

(4) IHIH YqfH

[Question ID = 492][Question Description = S5_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]
3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]

3)



fau T wEryT S eAUd® ufeu qUT U U wyA & fow wed suged faeeq it wmw
HITWT |

S99 % M H A arel gall 1 o ot Sga SEd § 1 SHF w1 % R & fREE et el
1 TV SATHN TR 3¢ TR STell STerd € | AfG 369 % fore gared g1 @ fgu < dt 9Ry e
WIS & M ST | F8t 721, ¥ 98 i 1 a1y ik 5ie o e & 2 are] shed | oft = | e
I SIETe Yfe, S ai ® =R & o wwee % w9 | e H o S €, ge1 @ % fo el
3=t & | g vt g H of, St @ % s F 2 o S, gar e o ek ¥

o H o fohaH e SUT ST e fedr §iar & 2

() =@
(2) e
(3) T
(4) e foer

[Question ID = 493][Question Description = S5_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 1969]
2. 2 [Option ID = 1970]
3. 3 [Option ID = 1971]
4. 4 [Option ID = 1972]

6)

faw wTu eIty St sATUd® ufeuw qem UW T UyH & fow wew Sugen oo @ e
HiTeTg |

$4 % M H 3 aTel gail 1 oA i 98 SFEd ¢ | $UF &1 HHl & HR0T1El fhEE s19H wgedi
T TRTSAT ST e It SR STl STerd ¢ | 3fe $o9 o o v ge1 o fau sind <t 9wy wieR
@ F M S | 7 T, T g& gfy A 917 &R e F e | 2 et wed 9§ oft s | 1
=i wrHare yfH, S agsl @ =T % fa wmeme 6 w9 H e H @R S E, g5 @ % fog ged
oot ¥\ O R o R, S a e e e e, 3a e s w

‘gar’ & foru for fasraor =61 wam =7E v <0 gepan 2

(1) B
(2) wd-wd
(3) HH=

(4) ed-dre

[Question ID = 494][Question Description = S5_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 1973]
2. 2 [Option ID = 1974]
3. 3 [Option ID = 1975]
4. 4 [Option ID = 1976]

7)



faw wu wertyT Wt sAUde ufeuw qem g T uye & fow wed Suged fasew & wed
THITT |

$UF % W H 2T aTel gall w1 @A o Sga S § | $HF S S o HIR0T § fREe eren aggs
T TRISRT ST e 3T SR STl S & | 3fe 399 & o v g&1 o few sind ot 9 iR
TG % M ST | 78 71, T 9&1 4f 1 9rg &R et & e | 2 et wed 9 ot s | e
=i vTHaTe A, S TYE =R % A SReTe 6 w9 H s H @R S §, g8 @ % fog ges
et & | gt aeet ifir F oft, S St 3w § 6 @ S, 9% @ S HeRd € |

‘T’ <1 g TS TE € ¢
(1) wfae
(2) 39
(3) T
(4) R

[Question ID = 495][Question Description = S5_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 1977]
2. 2 [Option ID = 1978]
3. 3 [Option ID = 1979]
4. 4 [Option ID = 1980]

Topic:- HIN_Q136-150_L2_P2_CTET

Y ffafad § ¥ PA-2 TRE A ¥ 2
(1) 999 IR 929

(2)  gaoT iR @t
(3) S SR TEA
(4) e siR A

[Question ID = 496][Question Description = S5_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 1981]
2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]
4. 4 [Option ID = 1984]

2)

Hefl HId =i Tk LAY el Y& it § 9gd 319 faenf¥i=i =i swerl & an 4 $o faan fagsl
%1 92 & I H et 2 |

=8 T&T 1 NS FH LTI G 2

(1) =AfRTd Y2 o qread | fHiEnfel 5 987 &l 9g=1a e

(2) Toenfel=i o 9o [ & |ie S a9

(3) e H YTEnel Y84 SR Al o fora weitees idfafueE @ 'y s

(4) ool =l 9ol oiE= | SE gfe d Hord #

[Question ID = 497][Question Description = S5_Hindi Content/Pedagogy_Q137]

1. 1 [Option ID = 1985]
2. 2 [Option ID = 1986]



3. 3 [Option ID = 1987]
4. 4 [Option ID = 1988]

Y frefates § G FE-a wue asi R A 2020 AR § wd @ Y 2
(1)
2
(3)
(4)

[Question ID = 498][Question Description = S5_Hindi Content/Pedagogy_Q138]

1
2
3.
4

4)

1. 1 [Option ID =
2. 2 [Option ID =
3. 3 [Option ID =
4. 4 [Option ID =

. 1 [Option ID
. 2 [Option ID
3 [Option ID
. 4 [Option ID

(1)
(2)
(3)
(4)

[Question ID = 499][Question Description = S5_Hindi Content/Pedagogy_Q139]

5)
aed <t Torem # sron et o1 Stvd G nenfid sgTEE S T e § | et faen
H g1 SR agHTIEE § 0 aedd § 2

former=it fovan o sTRfvs a6l § = & 961 / AIGHTST 6 ST
forner=it foran o wreafver W W A e #1 SeET

formerdt foran  weafes @ W fagsft w5 s
fernerelt foian & sty ol § Ut a9 (Weam) &1 9 & &9 H

= 1989]
= 1990]
=1991]
=1992]

TS U 1 die9d ® ?

quif & &gfq § fasst
Y=gl T AT S

21¢f T

Ui 1 Eg] § FEerl
1993]

1994]

1995]
1996]

(1) =it a= T feenert foe wrgemen # Y& e € of g # us ¥ sifess wmwnstt # ued ¥
(2) T\t o= T =i wm g €, ofiet o fe dimd ¥ sl A § fagwdt wmmd diew §
(3) |t o= shrafert s, sl o fael rd wien €
(4) Hoft sr=d STOAT HIGHTHT HiEd § ST ST | o HieaH H dien €
[Question ID = 500][Question Description = S5_Hindi Content/Pedagogy_Q140]
2. 2 Lowtion 0 - 1998]
.
© ey’ 3 T Herar' & AR € 2
(1) o 90 T fom oo o ©
(2) Torenedt s <1 g e € iR SRvEl & foo sge v e ©
(3) forenell Fawy wek o diwd €
(4) Toreneff @12 dgd 2 v F G #n g’ ?

[Question ID = 501][Question Description = S5_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 2001]



2. 2 [Option ID = 2002]
3. 3 [Option ID = 2003]
4. 4 [Option ID = 2004]

" = S e 2
(1) o v & mg e e #
(2) o ferer el % el s e §
(3) et == ek WM ek | 9 Hied §
(4) Ter-widfes & wam e & forg agam Hiem % fog =gd o & §

[Question ID = 502][Question Description = S5_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 2005]
2. 2 [Option ID = 2006]
3. 3 [Option ID = 2007]
4. 4 [Option ID = 2008]

Y Frafefen § § FSE-w )/ A E E 2
(A) TG TE Ao 3 AferTy 3§ sty der Rt 7
(B) TGV gHL e Wi H 7 1 guelq & € 7 € el Tey e ¥
(C) HIGH GHY e HiEd = oy e |eneE 2|
(D) IS S e e o wmede &6t €
(1) (A) 3R (B) ¥ Wl & |
(2) (A) 3R (D) HU T & |
(3)  (B) 3 (C) Fo Wl €1
(4) (C) ¥R (D) o Tl 1
1[Q:.n[a;£it?or:] |||; =2!':)g:]][Question Description = S5_Hindi Content/Pedagogy_Q143]
2. 2 [Option ID - 2010

3. 3 [Option ID = 2011]
4. 4 [Option ID = 2012]

9) = = -
frafafad § 9 FH-91 SR & T siferm & fag gamease & 2
(1) == Haell fee & aeam |
(2) TSgen geea il (20 feaet) & e 4
(3) o fag & HeE §
(4) TH 92T % TreEy 9

[Question ID = 504][Question Description = S5_Hindi Content/Pedagogy_Q144]

1. 1 [Option ID = 2013]

2. 2 [Option ID = 2014]

3. 3 [Option ID = 2015]
4. 4 [Option ID = 2016]



" e v 1 T SR N E 2

(1) e AT -2 1 SATERTH, TRy AR s Yer
(2) HeEfET SR TR
(3) ohfa 2R HfE F F97 % AN H S
(4) Toam, Higd &Y, 9 YA SR HreArHEsdl 6 S
[Question ID = 505][Question Description = S5_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 2017]
2. 2 [Option ID = 2018]

3. 3 [Option ID = 2019]
4. 4 [Option ID = 2020]

11)

Frefafes § 4 HF-T1 9e7 % 918 F1 F1 TE& ¢ ?

(1) e fenfuei @ e ® fF 3 Sae-gae &t 78 wert i el T ured 9l & SHER
3fa o =

(2) e fenfE @ wedt & fF 3 wd-E urgg aenlt ¥ 18 T v € A vee s

(3)  Tormefl ure Wl W ST U9 =E G % for s v fod

(4) STEAF ST I & THARR SR U YISl F 9N § S ©

[Question ID = 506][Question Description = S5_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 2021]
2. 2 [Option ID = 2022]
3. 3 [Option ID = 2023]
4. 4 [Option ID = 2024]

" sy s i e & A § 2
(1) o foveror =1 g 329 el fawa 1 wied F0 §
(2) Towa =g & guge F fon s W e 1 < ey
(3) v ST g faug awg w5 The @ E
(4)  |eft fawei =1 sifermm g o eftrmm € &
1[Q111¢[e;tit?n |||; =250(;Z]][Question Description = S5_Hindi Content/Pedagogy_Q147]
2. 2 [Option ID = 2026]

3. 3 [Option ID = 2027]
4. 4 [Option ID = 2028]

13)

A o UiHA1 SUITH H S wnfee § 2

(1) g& fo=r fawg o 9§ =, awed, qHeiad Sl 2if<d g

(2) E9E FAE], HUed R gAelEd

(3) EE T, UEY fore, eI 1 HR A0 wEd, gFied, HenyA i Hurd

(4) Y WA, T IAE], WEY o6, g SR wete, U o) sifan uey w5 aad

[Question ID = 508][Question Description = S5_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 2029]
2. 2 [Option ID = 2030]



3. 3 [Option ID = 2031]
4. 4 [Option ID = 2032]

14)

SATET el 371E H SIS o e € | 9 s ferenfefi 9 st ® T apiter w1 ured gEe 9
g1ga TRt / 918 9 | 9% favea oiR v S %1 weE W e e ver SR aee w5 S
2139 g / v 1 e w9 8§ S S 2

(1) TH &sl | §ae

@) i st

(3) ¥== YR FH Al

(4) TN FHET gET=E |

[Question ID = 509][Question Description = S5_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 2033]
2. 2 [Option ID = 2034]
3. 3 [Option ID = 2035]
4. 4 [Option ID = 2036]

15)

e H wiayfe frafay <5 o & 2

(1) I& S & fere fo @ =i =i mn &

(2) Torenfef=i =61 S7F Horem vaT % TR ° giEa w24 % o o) 7w 59n & fow fE e aEi |
I S I S §

(3)  31EATRI w1 =S Giaa H % fog T fenedf = =& w9 @

(4) TEIHY SR USR] Tl AL R T H & forw

[Question ID = 510][Question Description = S5_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 2037]
2. 2 [Option ID = 2038]
3. 3 [Option ID = 2039]
4. 4 [Option ID = 2040]






